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Before you start to answer the questions vou st check up
this booklet and ensure that it contains ail the pages (1-16)
and see that no page or portion hereof is missing or repeated,
Candidates are also voguired to check that they have got the
right question book strictly from the stream candidate has
applied forie. Computer Science / Engineering Part OR
Information Technelogy Part OR Electronics and
Communication / Telecommunication Part OR Physics' /
Electronics / Applied Electronics Part. If you find any defect
in this Booklet, vot must get it replaced inmediately.

You will be supplied the OMR Answer-Sheet separately by
the Invigilator. Read the instractions printed on OMR
Answersheet carefully before filling the information on the
OMR Answer-sheet. You maest complete and code the details
as per the instructions given in the OMR answer sheet
carefully. You must also put your signature on the OMR
Answer-Sheet at the preseribed place before you actually start
answering the questions. These instructions must be fully
complied with, failing which, your Answer-Sheet will not be
evaluated. (For V. H. candidates these details will be filled in
by the scribe. However, all V.H. candidates must put their
left-hand thumb impression at the space provided in the OMR
Answer-Sheet. Inoaddition, those V.HLD candidates who can
sign should also put their signatures in addition to thumb
impression.)

This booklet consists of 120 Multiple choice questions. Bach
question has 4 {four) alternatives (A}, (B), (€}, and (2). Inany
case only one alternalive will be the corresct answer, In case if
you find more than one correct answer, then choose the most
appropriate single option and darken the appropriate cirele
int the answer sheet in front of the related question,

For each correct answer One mark will be given and for cach
incorrect answer 0.25 marks will be deducted.

Candidate has to attempk both parts compulsorily.

Use Black/ Blue Lall point Pen to dacken the circle Answer
once darkened is nok atlowed to be erased or altered. Against
any guestion if more than one circle Bs darkened, machine
will allot zere mark for that question,

Do not fold answer sheet inany case.

No rough work is by be done on e Answer Sheet, Space for
rough work has been provided in this booklet.

Mobile phones and wircless communication devices are
completely banned in the examination hall/rooms.
Candidates are advised not to keep mobile phones/any other
wireless communication devices with them even switching it
off, in their own interast, Failing to comply with this provision
will be considered as using undair means in the examination
and action will be taken against then including cancellation
of their candidatura.

Candidate shoubd not leave the examination hall/ room
wilbout handing over his/hier Answer sheet o the invigitator
arwd without signing on the attendance sheet. Faiting in doing
50, will amount to disqualification.
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SECTION -~ A
General Aptitude

Choose the most appropriate option.

Direction Q.No.1-2:

In the foliowing questions choose the word
opposite in meaning o the given word.

1.  Antagonism:

(Ay Cordiality (B)  Animosity
(C) Hostility (D) Enmity

2. Hasten:
(A) Dash (B) Dawdle
(Cy Hurry (D) Scurry

Direction Q.No.3-4:
in the following questions, out of the four

alternatives, choose the one w hich best expresses
the meaning of the given word.

3. Camoulflage:

Direction 5 - 8§

The following pie-chart shows the percentage
distribution of the expenditure incurred 1n
publishing a magazine. Stucly the pie-chart and
answer the questions based on 1t

Various Expenditures {in percentage)
Incurred in Publishing a Magazine

e e 1
[ tt)ln(;l{;(;n Cost - Printing Cost
. | ,_0,— ; 20%
Rovalty | & _ l
15% ‘
I Transportation
Cost 10%
Binding Cost . ' -
30’ Paper Cost
20%
25%

5.  What is the central angle of the sector
corresponding to the expenditure incuryed
on Royaity 7

(a) 15° (B) 24°
Q) 5w (D) 48°

6.  The price of the magazine is marked 20%
above the C.P. If the marked price of the
magazine is T 180, then what is the cost of
the paper used in a single copy of the
magazine 7

(A 36 By T37.50
(A) Disguise (B} Cover (©) %42 (D) T44.25
(C) Demonstrate (1) Fabric
7. If for a certain quantity of magazine, the
publisher has to pay < 20,600 as printing
4 Yearn: cost, then what will be amount of royalty
to be paid for these magazines 7
(4)  Deny (B)  Accept (A) 219,450 (B) 21,200
() Confront (D) Crave (€ €22,950 ()  ¥26,150
A/Page? SPACE FOR ROUGH WORK SC-B (PHY)



Rovalty on the magazine is less than the
printing cost by

’_} L (473

(;r'\) :_)‘33 (B) “hD -“ 7o
©  20% Dy 25%

Direction 9 - 11

The table given here shows production of five
types of cars by a company in the year 2010 to
2015. Study the table and answer the questions.

Production of Cars by a Company

\f;;/ 2010{2011(2012{2013 120142015 Total
P 8 (2016 |17 21| 6 | 88
Q (16| 10§ 14 | 12} 12 § 14 | 78
R (2111716115131 8 | 90
5 4 [ 6 | 10|16 [ 20|31 | 87
T 25|18 19 |30 14| 27 | 133
Total| 74 | 71 { 75 | 90 | 80 | 86 [ 476
9. In which year the total production of cars

10,

of types P and Q together was equal to the
total production of cars of types R and &
together ?

(A) 2011
(B) 2012
(©) 2015
(D) None of the above

In which year the production of cars of all
types taken together was approximately
equal to average during the period ?

(A) 2010 (B) 2012
(C) 2014 (D) 2015

11,

The production of which type of cars was
25% of the total production of all types of
cars during 2014 7
(A) S
y Q

(B) R
) P

Direction Q.No. 12 - 14

Read the following information carefully and
answer the questions given below ;

{0

12.

P, Q, RS Tand Usix members of a family,

pach of them engaged in a different

pro fession Doctor, Lawyer, Teacher,

Engineer, Nurse and Manager.

Fach of them remains at home ona different

day of the week from Monday to Saturday.

The lawyer in the family remain at home

on Thursday.

R remains at home on Tuesday.

P, a Doctor, does not remain at home either
! !

on Saturday or on Wednesday.

S is neither the doctor nor the Teacher and

remains at home on Friday.

Q is the Enginecer and T is the Manager.

Which of the following combinations is
correct 7

{(A)  Lawyer - Tuesday
(B) Nurse - Friday

(Cy Manager - Friday
(1) Engineer - Thursday

Which of the following combinations is
not correct ?

(A)
()

(8)
(D)

R - Teacher

Q - Engincer

T - Manager S- Lawyer

A/Page 3

SPACE FOR ROUGH WORK

5C-B (PHY)




14, Wheo is the Nurse ?
(A) S By R
(< u (1) Data inadequate
Direction Q,No. 15 ;

Three of the words will be in the same
classification, the remaining one will not be. Your
answer will be the one word that does NOT
belong in the same classification as the others,

15, Which word does NOT belong to the
others 7

{A) Tape (B} Twine
(Q)  Cord {D}  Yarn

Prirection Q.No. 16 - 18 ;

Study the following information's carefully and
answer the questions given below :

(i}  Six persons A, B, C, D, E and F are taking
their breakfast in two groups facing one
another.

(i} Dand A are not in the same row,
i) Eis to the left of F and faces C.
B is in the middle of a group.

v} Dis to the left of B.

16, Who faces B?

18, Whichof the following pairsare facing eac

other ?
(A) CA B BA
(Cy DA (Y DE

19.  Find the missing number in the followin
quesiion.

AN &

A N
841, N 784 205 196
N N
/ <2 AN : “

R

o : Y
729 169
(A} 32 (B) 42
© 62 (D) 82

20. If = means +, — mweans <,
and + means X, then

Xomeans -

(3x 4) - 8x 4
4+ 8x 2+ 16+ 1
(A) 1 By -1
© 2 oy 0

Direction Q.No. 21 -22;

Inceach of the following letter series, some of the
letters are missing which are given in that order
as one of the alternatives below it. Choose the
correct alternative,

{A) C (B) A 21.  aaa_bb_aab_baaa_bb
(<) E {y F (A) abab (B) bbaa
{C)  babb {3y  baab
17, Who of the following are sitting in the same
row ¢ 22, abca_bcaab_aa_caa_c
(A)  AEB (B) EFB (A) bbac (B)  bbaa
(©)  DEF (D) AEF ©)  achb (1) acac
A/Page 4 SPACE FOR ROUGH WORK SC-B (PHY)



Birection (J.Ne. 23 - 24«
v each of the following questions, one term in

the nuraber series is wrong, Find out the wrong,
term,

23, 125,126,124, 127,123, 129

(A) 123 (B) 124

() 126 (D) 129
24, 52,51,48,43,34,27, 16

(A) 51 (B) 48

Q) 24 (D) 43

Direction Q.No. 25 - 27

[n each of the following questions, a series is
given with one term missing. Choose the correct
alternative that will continue the same pattern
and fill in the blank space.

_______ , 123, 214, 341.

(A) 65 By 70
© 72 D) 62

260, 71,76,69,74,67,72,

(A) 65 (B) 76
© 77 (D) 80
27.  50,49,46,41,34, _
(A) 32 (B) 25
(©) 21 () 19

Direction Q.No. 28 - 29 .

In each of the following questions, find out the
correct answer from the _gi\-‘t-:u alternatives,

28, If in a certain language MECHANICS is
coded as HCEMASCIN, how is POSTER
coded in that code ?

{A) OPTSRE (B) SOPRET
(Cy RETSOP (D) TERPOS

23, UTABLEis coded as GZYOV, how is JUICE
coded ? “
(A) OZLF] (B) QFRXV
({C) HOFAD (D) QZHMT

Direction Q.No, 30-32;

Iiv each of the following questions, there is a
certain relation between two given words on one
sie of : 1 and one word is given on another side
of : 1 while another word is to be found from the
given allernatives, having the same relation with
this word as the words of the given pair bear.
Choose the best alternative.

30.  Engineer: Map : :
(A)  Design (B}
(Cy  Mould (D)

Bricklayer: ?

Templet
Cement
31 Major: Battalion : : Colonel : ?
(A) Company (B)
(C)y  Army (D} Soldiers

Regiment

32, Virology : Virus : : Semantics:?
(A} Amoeba {(B)

{C) Nature' ()

Language

Society

A/Page 5
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Dirvection Q.No. 33 - 35

The following questions consist of two wards
each that have acertain retationship to each other,
followed by four lettered pairs of words. Select
the lettered pair that has the same relationship
as the original pair of words.

33.  Symphony : Music
(A)
(B) Ode: Prose
(C) Preface: Book

)

Mural : Painting

Editorial : Journal

34.  Medicine : Capsule
(A} Pearl:Shell
(B) Passenger: Bus
(©
(1)

Heart : Lungs

Car: Vehicle

35, Identity : Anonymity
(&)
(B) Careless : Mistake
(Cy  Truth: Lie
{8)

Flow : Perfection

Fear: joy

Pirection Q.No. 36 - 37:

Each of the following questions the first two
words have definite relationship. Choose one
word out of the given four alternatives which will
fill in the blank space and show the same
relationship with the third word as between the
first two.

36, Cobra is related to Snake m the same way
as Leopard is elated to .
(A) Tiger (B)
(C)y Cat ()

Lion

Zebra

37, Memorise is o Amnesia as | Aovement is (o

{A} Lubrication
(By  Lethargy
(C) Paralysis
() Fermuit

Direction Q.No. 38 -41:

in each of the following questions, three oul of
four alternatives contain alphabet placecl ina
particular form, Find the one that does not belong
to the group. ‘

38. (A) BCDE! (B) PQRSW
(©) LMNOS (D) HIKLO
39, (A) LNMO (B) CRDT
(©) EUFV (D) GWHX
40. (A} CBAZ ®)  AZYX
(C) AZBY (D) PONM
41, (o) JMP (B) RUX
) UYB (D) EHK

42. A train started from Mumbai at 6.00 AM.
On the next {second) station 1/3 passengers
got down and 96 got in. On the next {third)
station, ¥ of the total passengers present
in the train, got down and 12 came in, Now
there were 248 passengers in the train
when the train started from Mumbai, the
number of passengerswas :

(A) 435 (8)
(©) 654 (D)

564
736

A/Page 6
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43,

The LOM of two numbers 1s 45 times thelr
HCF I the sum of the LOM and the HCF
Of these two numbers is 1150 and one of
the numbers is 125, then the other number
15

(A)
(©) 250

|

256 (By 225

(D) 255

Direction Q.No. 44 - 45 :

Fincl out the wrong term from the following seties
and select the number from the alternatives which
will replace the wrong term in the series.

44,

46,

47.

299,178, 97, 48, 24, 14, 13 ;
(A) 175 (B) 295
C) 23 (D) 10

2,9,128, 65,126, 216, 344 :

(A) 38 (B) 217

(C) 356 (D) 66

The ratio between Sumit's and Prakash's
age at present is 2 : 3, Sumil is 6 years
younger than Prakash. The ratio of Sumil's
age to Prakash's age after six years will be :
Ay 1:2 By 2:3
Q) 3:4 (Dy 3.8

[f the difference between a number and
1/5% of it is 84, what is the number ?

(A} 115 By 95
(© 105 (D) 125

48,

49.

50.

The ratio of ages of the father and his son
at present is 12 1 5, the difference of their
age is 28 years. What will be the ralio of
their Ages after eight years ?

(A) 2:2 (B 3:1

[
—

() (D) 3:2

Two pipes A and B can [ill a water tank in
20 and 24 minutes respectively and third
pipe C can empty at the rate of 3 gallons
per minute. IF A, B and C opened together
filled the tank in 15 minutes, the capacity
(in gallons} of the tank is :

(A) 60 (B) 120

(C 150 (D) 180

A can run 200 m in 35 seconds and B in
38 seconds. By whal distance A beats B ?

2
{(A) 15m (B8) '.15—3— m

I

I : 4
(<) }-5715' m Dy 15— m

A train starts at 7 am. from A towards B
with a speed of 50 kmy/hr. Another train
from B starts at 8 a.m, with a speed of
60 km/hr towards A. Both of them meet at
10 a.m. at C. The ratio of the distances AC
to BCis:

(Ay 4:5 By 5:4

C) 5:6 (D) 6:5

A/Page 7

SPACE FOR ROUGH WORK

SC-B (PHY)




1931
]

53.

The average of the husband and his wife
was 23 years at the time of their marriage.
After five years they have a one year old
child, The average age of the family now
is

(&)
{C) 23 vears (D

29.3 years (B 28.5years

19 years

1748 of 60% of a number is equal to 2/5%
of 20% of another number. Whalt is the
respective ratio of the first number to that
of second number ?

(A) 8:15 B) 5:9

) 8:13

A&B together have I 1210. If 4/15 of A's
amount is equal to 2/5 of B's amount, how
much amount does B have?

(A) T 664 () 550

(C) T484 (D) T 460

How many one rupee coins, 50 paise coins
and 25 paise coins of which the numbers
are proportional to 4, 5 and 6 are together
worth 327

(A) 16,20,24 (B) 12,16,20

(©) 20,24, 28 (D) 24,28,32

Two dice are thrown simultaneously, The
probability of obtaining a total score of 5
is:

(A)
(©

1/18 (B)
()

1/12

1/9 None of these

57.

58,

59,

60.

A tradesman marks his goods at such
price that after allowing a discount of 159
he earns a profit of 20%. Find the marke
price of an article which costs him T 850.
<1200 {B)

(A) 21300

(C) T1250 (D) T1350

In a camp, there are meals for 120 men ¢
200 children. If 150 children have take
their meals, how many men will be catere
to with the remaining meal ?

56 men can complele a piece of work |
24 days. In how many days can 42 me
complete the same piece of work ?

(A) 48 (B) 32

(C) 20 D) 16

A boat travels upstream from P to Q ar
downstream from Q to Pin 4 hours. If &
speed of the boat in still water

12 km/hr and the speed of the current
4 km/ hr, then what is the distance from

tQ?

! 1
(A) 31“_,;)‘ km (B 41; km

1 1
N 21- k Y 1=k
5 (C) 3 km () 3 km

.
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SECTION - B
PHYSICS

Choose the most appropriate option.

61. ; Repeatable entity of a crystal structure is
. /"' known as:
(A)  Crystal
(B) Lattice
(C)  Unitcell
(D) Miller indices

“The radius of the first Bohr orbit of
Y hydrogen atom is 0.0529 nm. The quantum
number of its Rydberg state of radius
0.0 mmis

(&)
(©)

62, 7

435 (B) 534

453 0y 21

Blackbody radiation consists of photons
populated according to:

(A) Fermi-Dirac distribution
{B} Bose-Einstein distribution

(€} Maxwell-Bollzmann distribution
(D}  None

64.
~J

Special theory of relativity deals with the
events in the frames of reference which
move with constant :

(&)
(©)

(B)
(D)

speed velocity

acceleration momentumn

65. # Ralic of change in length with original

N F Tanoth e ko g
¥ length is known as
(A} Stress (B) Strain
(C) Fracture (D) Toughness
66. In lasing action, the light amplification is
/ g g P

N,/ done because of :

{A) Spontaneous emission
{B) Stimulated emission
{C)  Absorption

(D} Ionization

67. » Which of the following is correct for a gated
\)/ D Hip-flop ?

‘(A)  The Q output is either SET or RESET
as soon as the D input goes HIGH or

LOW.
(B)  The output complement follows the

input when enabled

(C}  Only one of the inputs can be HIGH
ata time
(D)  Theoutputtoggles if one of the inputs

is held HICGH

\t}@f The Planck’s constant does not have :

(A} the dimensions of action

(B}  units of energy multiplied by time

(C)  wunits of momentum multiplied by
length

(D) units of angular momentum

A/Page 9
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Lonz's law is a consequence of the law of

69.5;«

\j conservation of :
(A) mass (B) energy
(C)  momentum (0) charge

The rest mass of an electron is ni,. What
would be its mass if it moves with velocity

7e
N

0.6c7
(A) 3Bmp/2 (B) dmy/3
(Cy  Bmg/4 (D)  6my/5

7}5 MnO, FeQ, CoO, NiO, FeCl; are :
~

(A)

Non-magnetic

74 Energy of an elastic mode of frequency f1s
4 givenas:
{A) uhf {B) {2+ Diy/2
©)  n+Dif (D) nf/2

75. / The central frequency of a band-pass filter
/ is always equal to the

s

-

(A} Bandwidth

(B) -3 dB frequency

(C) bandwidth divided by Q

(D) average of the critical fi‘equenclies

76. ; “The transconductance of an FET when
« § D=1 mA and VGS=1V would be :

(B) Mixtures (A) 1kS (B) 1mS
(C) Metals )y 1k (D) 1Im
(D) Anti-ferromagnetic
77, A square object moving with a relativistic
speed (0.9c) shall appear to an observer
72. | With the positive probe on an NPN base, as:
] an ohmmeter reading between the other
transistor terminals should be : (A) square (B) rectangle
(A) open (¢} triangle (D) circle
(B) infinite
78, In Raman spectra of molecules :
(C) low resistance \g
(A) Stoke's lines are at higher frequency
() high resistance and of higher intensity
(B) Stoke's lines are at lower frequency
: and of lower intensity
73.  Two photons of light are approaching eac h )
“\ ff other, Their relative speed will be : (C)  Stoke's lines are at higher frequency
and of lower intensity
(A) zero (B) «¢/2 ) . )
(D) Stoke's lines are at lower frequency
Q) ¢ (D) less than ¢ and of higher intensity
A/ Page 10 SPACE FOR ROUGH WORK SC-B (PHY)



79. ;The average power per unit area
o~ F transported b}f an f;zlt‘gctmrnagnel'i(_‘ wave
having electric field amplitude Ly is given

by :

2

i . 1 2
(&) 5eeoky 5 H0kd

()

1 A
I ‘,‘ Ea.‘
e Eplp

I
(C} E#{Jéo{io ()

80. » A thermodynamic system is maintained at

. f‘& constant temperature and pressure. In
N thermodynamic equilibrium, its :
(A)  Gibbs free energy is minimum
(B)  Enthalpy is maximum
(C)  Helmholtz free energy is minimum
(D} Internal energy is zero

# The term used to differentiate between
paramagnetic, diamagnetic angd
ferromagnetic material is called -

(A) Neel Temperature
(B)  Susceptibility

(C) Permittivity

(D} Reflectivity

82. . Inarefrigerator, the heat exhausted to outer
atmosphere will be :

{A) Less than that absorbed from the
contents of the refrigerator

{B) Same as that absorbed from the
contents

(C)  More than that absorbed from the
contents

(D) Any of the above depending upon the

working substance

Sj/ The zero potnt energy of a lincar harmonic

\, oscitlator of frequency 50 Hz s ¢

Lo6x1072 ] (B)  332x107%)

(D)

(A)

(Cy 0] 0.83 % 107527

IF d be the interplaner spacing of a crystal
then the Bragg's equation for an incident
X-ray beam of wavelength A at a glancing
angle 8, in the n order can be written as -

(A} 2dsin B, =na
(B} 2dsin 8 =n/A
(C) ndsin @, =Ax
(D} d/sing, =n)x

85./-/ Ratio of applied force with cross-sectional
N areaonarod is known as:

(A} Stress
{©)

(B) Strain
(L)

Fracture Toughness

86. Ferrites are :

(A Paramagnetic
(B} Diamagnetic
(C)  Ferrimagnetic
(D) Nonmagnetic

87/ The band gap energy of Silicon at room

™7 temperature is ;
{(A)y 11eVdirect
(B)
(©)

()

1.1 eV indirect
0.67 eV direct

(1.7 eV indirect
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8.
x\;f

=3

8.

o/

The temperature of transformation from
forromagnetic to the paramagnetic state is
known as

(A} Curie Temperature

(B) Curie-Weiss Temperature
(C) Neel Temperature

(D)

Debye Temperature

A particle of energy Estrikes a potential step
of height V> E. The transmittance in this
case would be :

(A} zero

B 1

(C) infinite

(D) finite non-zero

The drawback of a SR flip-flop is :

(A) Ithasno Enable input

{(B) Ithasa RACE condition
(C) Ithasno clock input

(D) It has only a single output

In a semiconductor, the variation of
resistivity with temperature can be
described by the following :

(A) Resistivity increases with increasing
temperature

(B) Resistivity decreases with increasing
temperature '

(C) Resistivity decreases with decreasing
temperature

(D) Resistivity is independent of

temperature

92.,'"

“

g

97.

f

The energy of a photon corresponding to
sodium light of wavelength 5890 A is :

) )
(@ (1)

1.2eV 2.1eV

13.6eV 32eV

When 535.8 nm line of mercury arc famp
was used as the source of radiation, a
Raman line is observed at 444.7 nm. The
Raman shiftis:
(A} 459 em 4

() 1097cmt

911 em 1

(B)
(D) 4555 cm”™ !

The malleable and ductile properties in
metallic material are due to:

(A)

Brittieness

{(B) Coefficient of thermal expansion
(C) Dispersion
(D) Plastic deformation

The effective number of atoms in BCC unit
cell are:

(A) © B 2
< 8 (Dy 12
96. / Debye heat capacity, C,, at low

temperature is proportional to
Ay T (B T
© v ®) T

If atomic radius of Neon is 0,158 nm, its
electronic polarizability will be (in F.m?)

{(A) 4x107% (8 4
(€ 3x10740 (D) 3x1073

4% 1079
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‘389, At bime £=0, a free particle is in the 103, 7 A dielectric material having electronic and
;f“z normatized state & {r, )=A sin DY tonic polarizabilities only has refractive
(Brx)el™ 452 The value of the linear index 1.4 and static dielectric constant 9.27.
momentum component p,, is : The tonic dielectric constant of the material
J would be :
(A)  owh (B) ©
Nk y {A) 731 By 317
(Cy  Axmh (D)1
) 371 by 171
‘ﬁ)f For which of the following isotopes NMR
spectroscopy is possible ? :
= ' Ny 104.  In a molecule having centre of symmetry :
(A) BC (By 160 \
i V' (A) Raman active vibrations may be IR
(<) B () %5 active
(B) Raman active vibrations will be
100: The quantum of lattice vibration energy is compulsorily IR active
=/ called as - '
(C) Raman active vibrations will be IR
{A) Polaron {B) Photon inactive
“‘ | ae
(€) Plasmon () Phonon (D) No correlation between Raman and
* IR active vibrations
101/ Ifanideal gas is subjected to an isothermal
~J process, then :
: L o 1050 A silicon plate of thickness 1 mm, width
() Nowork is done by the system /10 mm and length 100 mm is placed in a
, . . - . ~ .
(B) No heat is supplied to the system magnetic field of 05 wb/m?, acting
o perpendicular to its thickness. 1f, 1072 A
(C)  The heat supplied to the system current flows along its length and Hall
eclttals the change in internal energy coefficient is 3.66 X 10 ™% m3/Coulomb.
of the gas Hall voltage, developed across its thickness,
(D) The heat supplied to the system will be :
equals to the work done by the (A) 1.83mV (B) 0.83mV
svslem
(Cy 0.083mV Dy 732mv
\1[}\2 Ratio of stress versus strain is :
T A} Strenglh 106, Coordination number for hexagonal closed
(B) Young Modulus N/ packed crystal structure is :
{C)  Viscosity (A) 16 (B) 12
(D} Velocity <y 6 Dy 2
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107.
7

108

A wdcroscope is used to resolve two self
luminous objects, separated by a distance
4000 A. If wavelength of the incident light
is 5890 A, the numerical aperture of the
objective lens will be :
0.736 0.235

(A) (B)

0.898 (D) 0459

()

Which polarization mechanism may take

place at frequencies In the visible range of

applied electric field 7

(A} Dipolar

(B)  Electronic

(C) lonic

(D) Space Charge

If uncertainty in the location of a particle is
equal to de-Broglie wavelength,
uncertainty in its velocity should be

= 50%

(B)
(D) = 177%

If the light of 500 nm is incident on the
grating with 2540 lines per inch, how many
orders of diffraction maxima will be
visible ?

(A) 1

< 10

111y Inatwo shitinterference pattern, 10 order

r
¥
n
o

Juxy
d

113.

114¢

maxima is observed at a point on the screen
for a light source of wavelength 700 nm. If
the source wavelength is replaced by 500
nm, what would be the order of interference
maxima at the same point ?

(A) 8 (B)
Cy 4 %)

14

22

The weakest bond in strength will be :

{(A)

van der Waals bond

(B} Covalent bond
(Cy  Metallic bond
(D) lonic bond

The intrinsic impedance of a lossy dielectric
medium is given by :

o
B
® 7
[
©) o+ joe
M
©) £

The intrinsic carrier concentration of silicon
(Si) at 300K is 1.5 x 1018/ m. If Si is doped
with phosphorous of concentration 1043
atoms/ m>, the hole concentration in it at
equilibrium will be :

(A} 2.25%x10" /m?
(B)  1.5%x10%/m?
() 225%107/m?®
(D)  None of these
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15 A plane electromagnetic wave  of
_\\/ frequency w is incident normally on an
air-dielectric interface. The dielectric is
linear, 1sotropic, non-magnetic and its
refractive index is n. The reflectance (R} is :

o (=) @ ()
o (5 o (5

116, Which of the following is notan applicalion
v A of piezoelectric effect ?
(A) Ultrasonic Cleaner
(B)  Buzzer inside pager
(C)  Humuming in electric transformer
{D) Electronic Igniter

{]/ Optical fiber operates on the phenomenon
of :

{A) Laser technology

(B) Tyndall effect

(C) Photoelectric effect

(D)  Total internal reflectance

equation is :

1\1?/' The time independent Schrodinger

- "1
. S
B P R ey 4
(&) [ 2in Jy/ a Jt
12 2 r .
(B) 2w ViR V) =0
- p2
(©) - ﬂ Vo +V ly=Ey
h? 2
D)y = e Vi
(0 2m 4 v

-

)
(8)
(©)
(D)

forward- and reverse-bias directions of
diode indicate ?

1? What does a high resistance reading in both
A good diode

A shorted diode

A defective ohmmeter

An open diode

120/ In Compton scattering, the scattered x-ray

has v

{4)
(B)
S
D)

higher frequency
higher velocity
lower frequency

lower velocity

-o0o0-
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